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1 Introduction
According to the section 5.3.2.3 in [1] when receiving paging message containing “etws-PrimaryNotificationIndication”  UE should acquire SIB1 and SIB10 immediately.After careful observation we find some UEs maybe not able to receive SIB10 if paging DRX cycle is less than or equal to periodicity of SIB10. And this document intend to resolve the potential but critical problem.
2 Observation  
According to current agreement every time when UE receive paging message containing “etws-PrimaryNotificationIndication” UE will  read SIB1 immediately at first. Then UE would read SIB10 according to the scheduling information in the SIB1. Same paging message would be transmitted for e.g. one modification period to guarantee that it can be received by UEs as much as possible. So one UE may receive same paging message for several times. Every time UE would repeat the same receiving procedure i.e. read SIB1 first and then SIB10 because UE can’t make sure the paging message is the same and for the same primary notification.
 If paging DRX cycle is equal to or less than SIB10’s scheduling periodicity (note1), for those UEs whose paging occasion is located immediate before SI-window of SIB10, SIB10 will be always skipped! Figure 1/2/3 depict the detail of the problem. 
Note1:paging DRX cycle set is {320ms, 640ms, 1280ms, 2560ms}. And SI periodicity set is {80ms,160ms,320ms,640ms,1280ms,2560ms,5120ms}. if paging DRX cycle is less than SI periodicity then SI periodicity must be multiple times of paging DRX cycle.
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Figure 1 (paging DRX cycle=640ms and SIB10 periodicity=320ms)
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Figure 2 (paging DRX cycle=320ms and SIB10 periodicity=320ms)
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Figure 3 (paging DRX cycle=320ms and SIB10 periodicity=640ms)
In figure 1 since paging DRX cycle is 2 times of SIB10’s scheduling periodicity, so even 1st SIB10 is skipped UE can still receive 2nd SIB10 in green. But when paging DRX is equal to or smaller than SIB10’s scheduling periodicity as depicted in figure 2 and figure3 all SIB10 within duration of paging message are skipped.
3 Solution
For this we can go either way:

Alt1: to last paging message only one DRX cycle, so UE would receive paging message only once.
Alt2: scheduling periodicity of SIB10 is always less than default paging DRX cycle, so SIB10 can be always received before next paging message is received.
Alt3: UE ignore further “etws-PrimaryNotificationIndication” after receiving paging message containing this IE before UE  acquire SIB10. 
Alternative 1 limit network’s implementation and also reduce reliability for UE to receive the paging message. Since periodicity of SIB10 will not set too much big to meet 4s delay requirement, alternative 2 i.e. to set periodicity of SIB10 always less than default paging DRX cycle is acceptable. But it also limit network’s implementation.
If UE has already received paging message the delay to acquire SIB10 mainly depend on periodicity of SIB1 and SIB10.  Assuming periodicity of SIB10 is 160ms the mentioned delay is about 180ms~240ms. Scheduling information of SIB10 in SIB1 will not be changed in such short time. So alternative 3 will not prevent UE to acquire SIB10. Furthermore alternative 3 has no limit on network’s implementation. So we prefer alternative 3.
Proposal: to agree on alternative 3
4 Conclusion
This document propose that UE ignore further “etws-PrimaryNotificationIndication” after receiving paging message containing this IE before UE  acquire SIB10.
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